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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 8657991378 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following statements and identify the correct answer
S08 oo S8 $78 SEPTTeR) HoPod
A)  According to the Principle of Individual Differences, there can be
differences in the development of even identical twins
?dﬂ.éé Jore drEo @Tdo, aidrn e Oorodt St Boren Gofldd
B) Animplication of the Principle of Individual Differences 1s that all

children grow at a same pace
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Options :
Both A and B are false

A 58dn B Cotir H58352D

1. %
A 1= false B 1s true
A 3850068 B 5856
2. ®
Both A and B are true
A 5850 B Bo&ir &S00
3. %

A 15 true B 1= false

A %356 B 65226



Question Number : 2 Question Id : 8657991379 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT statement among the following
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Options :

Maturation 1z a developmental process

’

OB u £ ooy
m'&n.ﬂ:hﬁr 2.5 oJ5e

3 _.'-\.

e,
[aSC0

o

Maturation depends on learning
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Blue prints of maturation are carried in one's cells from the time of one’s
conception
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Maturation 1s natural unfolding of inherited tendencies
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Question Number : 3 Question Id : 8657991380 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Individual’s mental abilities are the product of
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Options :

both heredity and environment
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environment only
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neither heredity nor environment
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Question Number : 4 Question Id : 8657991381 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following statements and identifyv the correct anawer
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Statement A - Developmental task 1s one which arises at a certain period in life
of the individual and failure to accomplish it leads to difficulty with later tasks
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Statement B — Rachana 1s worried that her 6 month old son still does not turn

by himself as she felt this may also effect his later activities such as crawling,

standing. etc.
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Statement A 1= false
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Statement A 1s true but does not offer correct explanation for statement B
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Statement A is true and offers correct explanation for statement B
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Statement A and B are not related
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Question Number : 5 Question Id : 8657991382 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to Kohlberg, stages of moral development are
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Options :
culture specific
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universal
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different in boys and girls
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Question Number : 6 Question Id : 8657991383 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Saparna. a grade II student knows to do addition. Her teacher has introduced

multiplication by giving a sum as 2 X 3 and 1s explaining it by showing that

2 X 3 1s adding 2, 3 times. According to Piaget, Saparna who 1s trying to grasp

the concept of multiplication is in a state of
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Equilibration

att ok -
JSneinerrdd

Disequilibrium
080

2.4
Irreversibility

ﬁ
Pyt grpadd Bt
oJodJ ;@'E’g P50 £ a0

Assimilation

- T
. aydaeed



Question Number : 7 Question Id : 8657991384 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the activity among the following that DOES NOT represent thinking
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Options :
A teacher taking suggestions from students to reduce pollution
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A man preparing his tour plan to use his budget optimally
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A group discussing about using a particu]ar product relating to health care
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A girl drmvjng a horse by looking at a picture of horse
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Question Number : 8 Question Id : 8657991385 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘Our perception and ideas about our capabilities and qualities’ 1s known as
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Self concept
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Self regulation
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Question Number : 9 Question Id : 8657991386 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One of the following is NOT a cause of truancy
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Options :

Negative attitude of teachers
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Improper physical and mental health of the child
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Parents encouragement
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Autocratic administration in schools

FSres® AoHhd HoFeD
4. %

: Yes



Question Number : 10 Question Id : 8657991387 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A primary school teacher has initiated a study to see the effect of parent’s
involvement in improving the performance of students in general. She has
selected children whose parents are all graduates and requested the parents to
spend exactly one hour time with the children after school without fail and help
them in studies. All parents followed the teacher's instruction accurately. The
intervening variables in this study among the following is
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A) Ability of the student
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B) Performance of students
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C) Parent’s involvement
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D) Learning style of the students

#

ey c‘_‘a’:a, ot

?_-\

Had)
(| .
Choose the correct answer

2B Barerard)) wothB ok

Options :
A & D Glll:v
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A,B.C,D
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A B& Conly
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Question Number : 11 Question Id : 8657991388 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Learning of which of the following activities require achieving a certain level of
maturation
808 5yE708 B I5BET08 2.8 DBY :

A.} Infant learning to control bowel movement

B) Pre-school child 1&31‘11j11g to hold penecil
FOardareldd Heirtd DS 26D §°G,E‘c::u S B0
C) Adolescent learning to respect others feelings
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Choose the correct answer
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Options :

AB&C
1.

A & Bonly
A & Birgs
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B & C only
B & C sir@a
3. %
A & Conly
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Question Number : 12 Question Id : 8657991389 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One of the following CANNOT be considered as process related factor in
learning
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Options :
Selection of suitable methods
BHD e woms
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Using maximum senses
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Question Number : 13 Question Id : 8657991390 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

When we say right moments for learning according to Thorndike’'s Law of

Readiness, it 1s readiness concerning to learner’s
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Question Number : 14 Question Id : 8657991391 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Yamini is a two year old girl. Whenever her mother refused to give anyting.
Yamini used to throw all the things around her. To avoid this behawviour
Yamini's mother gave her whatever she asked. Eventually, as Yamini was
growing her mother wanted to change Yamini's behaviour and started to 1gnore
even when she was throwing all the things. Slowly, Yamini stopped throwing
things and started listening to her mother. This is an example of this principle
of learning according to Pavlov
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Options :

Generalisation
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Question Number : 15 Question Id : 8657991392 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Jaya, a school going student, studies very sincerely to get good marks in all her

exams as her mother gives her a pgift after every terminal exam. The

reinforcement schedule followed here 1=
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Continuous reinforcement schedule
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Fixed ratio reinforcement schedule
08 DS RGeN Adhio
2. % ¢
Fixed interval remmforcement schedule
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Variable reinforcement schedule
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Question Number : 16 Question Id : 8657991393 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Smritl has taken her dog for a walk on the road. The dog freed itself and ran

away. Smriti chased the dog and caught hold of it but on seeing around she
realized that she 1s in a new place. To go back to her place, she looked around
and based on a sign board showing direction to the market near her home she
started back home. This 1s an example of learning by
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Options :
Conditioning
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Trial and error
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Insightful
00853331
3.¢
Modeling
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Question Number : 17 Question Id : 8657991394 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A father has taken his daughter to an orphanage to sensitise her towards the
orphans. The domain of learming targeted by the father is
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Conative
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Question Number : 18 Question Id : 8657991395 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ketaki wanted to become a civil servant and appeared for the exam. She got
selected for next lower cadre post of central services and not civil services. In the
meantime for self sustenance. she joined central services and continued
preparation for eivil services. This indicates that
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Mpotivated behavipur 1s false
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Motivated behaviour seeks equilibrium between needs and their
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Question Number : 19 Question Id : 8657991396 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Rama went to a shopping mall when suddenly some anti social elements came,
destroved the shops and ran away. Police have booked a case. As requested by
the police. Rama as evewitness has narrated the incident before the magistrate

after a few months. The memory of Rama in this case 12
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Episodic memory
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Question Number : 20 Question Id : 8657991397 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Usha has memorized one stanza of a song In ten sessions of 15 minutes each.
She took another ten sessionz of the same duration to memorise the second
stanza of the same song. The transfer of learning that happened here 1s
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Question Number : 21 Question Id : 8657991398 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement relating to ‘indirect ways of teaching’
‘5354':‘;: S5 5 “D’-*@ %) moeodot) whsea = 5 o5 & rbBodob
Options :

Role play 1s an example of indirect ways of teaching
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In indirect ways of teaching. students are actively involved in learning
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2. % i
Indirect ways of teaching help in greater retention
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In indirect ways of teaching. teacher is at the centre
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Question Number : 22 Question Id : 8657991399 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which among the following happen during the pre-active phase of teaching?
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A) Fixing the aims and objectives of teaching and learning
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Choose the correct answer
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Options :
Both A & B
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Question Number : 23 Question Id : 8657991400 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the disadvantage of problem solving method
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Options :
Tales less time
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Providing materials and sources required for s@lt"ing a problem
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Easy to use
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Question Number : 24 Question Id : 8657991401 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One among the following should NOT be done by the teacher in an inclusive set
up
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Options :

Sensitize children without disability about children with disabilities
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Updation of knowledge about disability. inclusion and current trends in
education
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Discourage peer tutoring
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Structure the physical environment of the class to enhance learning of the
child with disability
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Question Number : 25 Question Id : 8657991402 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per Rule 1(c) of Section 12 of the Right of Children to Free and Compulsory
Education Act, 2009, Navodaya Vidyalayas shall admit in Class I, children from
the neighbourhood belonging to weaker and disadvantaged groups to this extent
of the strength of that class
608 HH8an Mot A wree FEy Hho, 20096 S 126°0 Jahio 1(c)
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Options :
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Question Number : 26 Question Id : 8657991403 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Telangana Teacher Eligibility Test (TGTET) iz a

Boorrs 6aroRoh o8 H6% (TGTET) 2.8

;—"1} Norm-referenced test
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B) Criterion-referenced test
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Choose the correct answer
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Question Number : 27 Question Id : 8657991404 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Child abuse 1s the intentional. non-accidental injury, maltreatment of children

caused by
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B) Care-takers
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Question Number : 28 Question Id : 8657991405 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which among the following relating to learner does NOT help in effective
learning?
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Options :
Learner’'s action on feedback
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Learner's awareness of learning goals
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Question Number : 29 Question Id : 8657991406 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

This leadership style 1s also called non-interfering
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Question Number : 30 Question Id : 8657991407 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A three year old girl could draw a picture of a bird that she has seen. According

to Bruner. she 1= in this mode of representation
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Language I Telugu
Section Id : 86579947
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 86579974
Question Shuffling Allowed : Yes
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Question Id : 8657991408 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 34)
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Sub questions

Question Number : 31 Question Id : 8657991409 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 8657991410 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 8657991411 Question Type
Display Question Number : Yes

: MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 8657991412 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Sub-Section Id : 86579975
Question Shuffling Allowed : Yes



Question Id : 8657991413 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (35 to 38)
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Sub questions

Question Number : 35 Question Id : 8657991414 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 36 Question Id : 8657991415 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 8657991416 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Baldhen
1. #

Hohdo
2. %

%-P_',-::.D
3. %

?'EI,;'_"ID
4. )

Question Number : 38 Question Id : 8657991417 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 86579976
Question Shuffling Allowed : Yes

Question Number : 39 Question Id : 8657991418 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 8657991419 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 41 Question Id : 8657991420 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 8657991421 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 8657991422 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 8657991423 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 8657991424 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 8657991425 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 8657991426 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 8657991427 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 8657991428 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Question Number : 50 Question Id : 8657991429 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 8657991430 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 8657991431 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 8657991432 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 8657991433 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 8657991434 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 8657991435 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 8657991436 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 8657991437 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 8657991438 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 8657991439 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Language II English

86579948
3

Online
Mandatory
26

26

30

0

1
86579977
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Question Id : 8657991440 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)

(61-65) Read the following passage and choose the correct option for
each question.

The effects of climate change on water resources can have profound
consequences for both our environment and our daily lives. As global

temperatures rise, the patterns of precipitation—such as when, where, and how

much rain falls—are becoming increasingly unpredictable. Some regions are
experiencing more Intense and frequent rainfall. while others are facing
prolonged droughts. These shifts in precipitation patterns pose significant
challenges to water management and accessibility worldwide.

Flooding 1s emerging as a growing concern due to the changing climate.
Compared to the early 20th century, precipitation events have become more
intense, heavier, and more frequent in many parts of the world. As a result, the
risk of flooding has increased. especially in areas already vulnerable to such
events. This trend 1s expected to worsen as climate change continues,
highhghting the need for better flood prevention strategies and infrastructure.

At the same time, droughts are becoming more prevalent, particularly as
water usage escalates during hotter weather, with agriculture being a major
contributor. Just as we sweat more in extreme heat, higher temperatures cause
plants to lose. or transpire., more water. prompting farmers to use even more
water to wrrigate their crops. Snowpack, which 1s essential for providing fresh
water to many reglons, 13 also being affected. As snow levels decrease and
snowmelt occurs earlier, i1t is becoming an increasingly unreliable source of

water, especlally in areas where rainfall 1s limited during warmer months.

Sub questions

Question Number : 61 Question Id : 8657991441 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the passage, the growing concern is

Options :



population growth.

1. %

conflicts between nations.
2. %

degradation of soil quality.
3. %

occurrence of floods.
4.«

Question Number : 62 Question Id : 8657991442 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
"...water usage escalates during hotter weather’.
Here the word ‘escalates’ means

Options :

diminishes.
1. %

accelerates.
2.

recedes.

decreases.
4. %

Question Number : 63 Question Id : 8657991443 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The patterns of precipitation. such as timing, location, and rainfall volume, are

becoming inereasingly unpredictable due to

Options :



rise 1n global temperatures.
1. ¢

decrease in temperatures.
2. &

mcrease 1n snow levels.
3. %

restoration of water bodies.
4. %

Question Number : 64 Question Id : 8657991444 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Farmers are prompted to apply more water for irrigating their crops due to
Options :

reduced temperatures.

1. %

IIIDdE‘l‘.'] te t empera tures.
2. %

].D‘."i."EI‘ t elmnpera tures.

higher temperatures.
4.

Question Number : 65 Question Id : 8657991445 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which water source has become less reliable, particularly in regions that
experience limited rainfall during the warmer months?

Options :

Floods



River water

2. %8
Snowpack
3.¢
(Oceans tides
4, ®
Sub-Section Number : 2
Sub-Section Id : 86579978
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 8657991446 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The head of the armed forces declared law.

Choose the correct option to complete the sentence.
Options :

marshal

marital
2. %

martial
3. ¢

mortal



Question Number : 67 Question Id : 8657991447 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The traders suddenly the prices of edible oil last month.

Choose the most appropriate word to complete the sentence.

Options :

rose
1. ® 5

raised
2.4

rised
3. %

rice
4. %

Question Number : 68 Question Id : 8657991448 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Read the following two sentences.
Sentence A: He is wearing a black and white shirt.
Sentence B: He has being worn a black and a white shirt.

Choose the correct option.

Options :

Sentence A and B are correct.

1. #®

Sentence A and B are incorrect.
2. ®

Only sentence A is correct.
3. ¢

Only sentence B iz correct.



Question Number : 69 Question Id : 8657991449 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

The farmer grazes  cattles on this meadow  during the summer months.

A B C D
Options :
A

Question Number : 70 Question Id : 8657991450 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Vikas was a humble, courteous and gentle man.

Choose the opposite word of "humble’.

Options :
modest
1. %
timid
2. %
arrogant
3.¢
quiet

4.%



Question Number : 71 Question Id : 8657991451 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The visiting diplomat the Chief Minister.

Fill in the blank with most appropriate word.
Options :

called in

1. #

called off
2. %

called on
3.¢

called at
4. %

Question Number : 72 Question Id : 8657991452 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the 1diom that means ‘to speak first after prolonged silence’.
Options :

Break the news

Beat the air
2. %

Break the ice
3.¢

Bell the eat



Question Number : 73 Question Id : 8657991453 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The bus before I reached the bus stop.

Choose the correct option to complete the sentence.

Options :
leaves
1. %

had left
2.

has left
3. %

will have left

Question Number : 74 Question Id : 8657991454 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The article several experts on the subject.

Pick the correct option to fill in the blank.

Options :

cites
1.

sights
2. %

sites

saints



Question Number : 75 Question Id : 8657991455 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Government run by officials is called

Options :
~ democracy.

l.

autocracy.
2. %

bureaucracy.
3.¢

aristocracy.
4, %

Question Number : 76 Question Id : 8657991456 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the meaning of the word ‘deliberate’.
Options :

| % sudden

~ random
2.
indifferent
3. %
intentional

4.9



Question Number : 77 Question Id : 8657991457 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose correctly spelt word.
Options :

contaminate

1.

madequete

accelarate

stimulete

Question Number : 78 Question Id : 8657991458 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Arrange the following in the correct order to form a meaningful sentence.
P: A natural community
Q: the population of
R: other animals.
S: relies on the presence of

T: carnivores to regulate

Options :

P.T.S.Q.R
1. ®

PS5 T, QR
2. .

P.T.S.R.Q
3. %

P.Q.T.S.R
4, %



Question Number : 79 Question Id : 8657991459 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The shop keeper asked me, “Where 1= your grocery list?’
Choose the correct indirect speech.

Options :

The shop keeper acked me where my grocery list was.
1.V

The shop keeper asks me where my grocery list was.
2. %

The shop keeper asked me where is yvour grocery list.
3. %

The shop keeper asked me where was my grocery hist.
4. %

Question Number : 80 Question Id : 8657991460 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Pick correctly punctuated sentence.

Options :

The teacher asked him why were vou abzent vesterdavy?

1. ®

The Teacher asked him “why were vou abzent vesterday.”
2. %

The teacher asked him, “Why were you absent yesterday?”
3.¢

The teacher asked him, Why were vou absent vesterday?
4. %



Question Number : 81 Question Id : 8657991461 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
It’s very hot, ?

Complete the sentence with correct option.

Options :

does 1t
1. %

18 1t
2. ®

1sn't it
3.¢

doesn't 1t
4,

Question Number : 82 Question Id : 8657991462 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

When did she return my laptop?

Choose correct passive voice.
Options :

When 1s my laptop returned by her?

When was my laptop returned by her?
2. ¢

When was my laptop be returned by her?
3. %

When was she return my laptop.
4. %



Question Number : 83 Question Id : 8657991463 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Why are vou a bag today?

Complete the sentence with correct option.

Options :

carrying
1.

carry
2. %

carries
3. %

carried

Question Number : 84 Question Id : 8657991464 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the grammatically correct sentence.
Options :

He 1s a wisest boy in the class.

He 13 the moat wiseat boy in the claas.

He 1s wizest than his classmates.

He 1s the wisest boy in the class.
4.



Question Number : 85 Question Id : 8657991465 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In language teaching, storytelling serves the purpose of

Options :

memorizing spelling
1. %

learning punctuation
2. %

Ellhﬂllﬂillg gramimar accuracy
3. %

improving speaking and comprehension
4.«

Question Number : 86 Question Id : 8657991466 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
This writing covers the function of showing cause and effect by explaining how
the events are linked.

Options :

Persuasive writing

1. %

Expository writing
2.
; Narrative writing

Descriptive writing
4. %



Question Number : 87 Question Id : 8657991467 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
This 1s NOT desirable in an English classroom.
Options :

Incorporating various teaching methods

Encouraging open discussions and debates
2. %

Allowing learners to express their ideas
3. %

" Overlooking learners' mistakes
4.

Question Number : 88 Question Id : 8657991468 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who wanted to make the people “Indian in blood and color but English in taste

and opinion.”?
Options :

Rippon

Raja Ram Mohan Roy

Macaulay
3.¢

Charles Wood



Question Number : 89 Question Id : 8657991469 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Effective oral communication requires

appropriately in

Options :

adapting to the audience and context.

1.

memorizing vocabulary.
2. ®

using complex and lengthy sentences.

3. %

reproducing the written script.
4. %

the ability to use the language

Question Number : 90 Question Id : 8657991470 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

‘My English World' 1s the title of the

Options :

English textbook for Telangana State Board's Secondary classes.

1. %

English textbook for Telangana State Board's Pre-Primary classes.

2. %

3. ¥

English textbook for Telangana State Board's Primary classes.

English workbook for Telangana State Board's Primary classes.

4.%

Mathematics

Section Id :

86579949



Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 86579979
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 8657991471 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

With which of the following measurements a triangle can be formed?

7,

r o -

o LT - e e By AL | N -V S 4
.g'JID aPad” o) Brerdterd |eag el vk PJUSD'-;_: ey
= '

- Tk

4em, 7em, 14dem

4 Ro.ab, 7 o.cb, 14 Ro.:b

1. %

2cm, 3cm, 6cm

2 ?JC:-.-S?J 32055, 6 0.8
2.8

icm, 4cm, 6cm
3. o 3 ?”C:"g':\"':' _]'_'::":"'5:.1., 6?:":3'.5_):

Sem, Tem, 13cm

. = & = &
5 Ro.ab, 7 Do.ab, 13 Do.ab



Question Number : 92 Question Id : 8657991472 Question Type :

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MCQ Option Shuffling : Yes

The smallest odd prime number among the following is

o T e

Sob RS EIE BB Herd Hogyg
Options :

§)
1. % ©
2.¥
3. % :

5
4, %

Question Number : 93 Question Id : 8657991473 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

: ¢ 4 4. 3 3 .
The median of the numbers — , —, — , —and — 1=
{9 2 * 337 7 11

5 1

4 2 3
T £ < i T e e g
cOEiren Gy , — anbc0 e snlnhdo

Options :

W=

: MCQ Option Shuffling : Yes



Question Number : 94 Question Id : 8657991474 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The present ages of a father and son are in the ratio 7: 2. After 8 years. the ratio
becomes 9:4. The present age (in vears) of the son 1s
2.8 Bof B Hiirthe HhE HaGe A8 7:2. § JodEore oo a8 Hdbine

Tyt @ ] A ot Iy Ry LR
D& 9: 4 wows, HITFHE HhE H6Dy (RoddTred®)
E i )

Lt

Options :

8
1.v

6
2. %
3 % 10

4



Question Number : 95 Question Id : 8657991475 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

—x—20
x+4

Ifl ]_.X—A[.Xi —4], then A =

2 n
[%]Zx—ﬁ[xi—ﬁﬂ wond, A =

Options :

N

4.9

Question Number : 96 Question Id : 8657991476 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ten thousands + Ten hundreds + Ten ones =
58 Jen + 58 Soben + 58 288 =
Options :
101010

1. %

11100

11010

11001



Question Number : 97 Question Id : 8657991477 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The sum of three consecutive multiples of 7 18 357. The largest multiple of them
13

—— SRV ST [V Y oV R e o ~ oy oo s W 4
7 ‘:}_UJ:C], slTR D altindy Msesre EJJ'?.'\_{?C' 3:'_"‘ e @e3 3l bL:E-'E-éC'

Options :
119
1. ®

126
2.¥

Question Number : 98 Question Id : 8657991478 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If lengths of sides of a right-angled triangle are x em. (x + 1) ecm and (x + 2)

cm, then the value of x 1=

Options :

1. ®

LS ]

3.¢

4.%



Question Number : 99 Question Id : 8657991479 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
1000 litres 1s equal to how many cubic meters?
1000 D6t 28 sbda) shéerddh Hairdo?

Options :

| % 100
0.1

2. %

Lk 10
1

4. ¢

: MCQ Option Shuffling : Yes



Question Number : 100 Question Id : 8657991480 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A 42cm long wire is used to form following shapes. Which of them will have side
with longest length?

42 Do. fo. PEHE 2.5 HiNH E5EPRD Bod sTTred 8,68, ES° 08 J%;

N SPED
He gha0 5DA Godnoh?
Options :
a regular pentagon
2.8 B0 woddha
1. % )

4 sguare

& o
2.8 SeudRo

an equilateral triangle

y L e T T L
2.8 dereT &ehmo

3.¢¥

a regular hexagon

M
2.5 [Ben ouban @



Question Number : 101 Question Id : 8657991481 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
262 +9°
26+9
Options :

523
1. ¢

991



Question Number : 102 Question Id : 8657991482 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In a histogram. the height of each bar represent
e Bar Do (8o 8" HESETHo SrEDd B rdkod
Options :
The value of data

o &
HaErod ens

The frequency of the data in that interval

=

g o
goddod” Harod TPH)

2i

250

2.

The average of the interval

Eietutele] {T-j:-égr SSI8STe

The total number of data points

< - P e s W e
Herod Sothide Swdo Doy
il -



Question Number : 103 Question Id : 8657991483 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following shape has no line of symmetry?

B0 2 rh - o S i
208 BS 5 arordl NS By 8th?
(=¥ ]

Options :
a standard parallelogram

e e 5
2.8 [B5n merosd Sdadnso
= -

1.«
a rectangle
2.5 B Saddo
2. % W )
an 1spsceles right angled triangle
2.8 DsnfrersT wonS e BEbao
3. %
a pentagon
L 2.8 Hoieha

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for
this question if any of the correct options are chosen.



Question Number : 104 Question Id : 8657991484 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If three cubes each of edge 10 cm are joined end to end. then the lateral surface
area of the 1‘e3ulting cuboid (in sq. cm} 18

e e at 0 AT g a oy # o ’ L e =5
10 R0.5b. @0l fe 0D paresd a8 oo D50 8 Hardd DB 5008 GG

5’& ando s, G88e goremo (5.20.50.08°)

Options :
960

1200

500
3.¢¥

1080

Question Number : 105 Question Id : 8657991485 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The solutions of 4x + 5y = 20 are
4x + 5y = 20 5% rdHen

Options :

0
1. ®

1
2. %

2
3. %

4.



Question Number : 106 Question Id : 8657991486 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Twin primes among the following is

L - -
P . IV SRV S LY
Boh IS Be HTPS HoPren

Options :

{117, 119)
1. ®

(107. 109)
2.¢

(111, 113)
3. %

(103. 105)
4. %

Question Number : 107 Question Id : 8657991487 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
15625 written as a power of 5 is

CENE O & ARy s Kol ..
15625 3 5 Gng; oeéd Setod” ordome
=



Question Number : 108 Question Id : 8657991488 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The perimeter (in cm) of an equilateral triangle whose area is 643 cm? is

64+/3 3. 20.50. Jee0 BOAS 2.8 Denersr Beheso GInE) HtnE ed (Vo.db.od”)
Options :
48
1.
32
2. %
64
3. %
40
4. %

Question Number : 109 Question Id : 8657991489 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If mean of 0.5, 3.0, 4.5, 4.0, 7.5, p. 8.5, 7.0 is 5, then the value of pis
0.5,3.0.4.5,4.0,7.5, p. 8.5, 7.0 © {iiéw 5 wond p T0E) Dend

Options :

8
1. %



Question Number : 110 Question Id : 8657991490 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
(2%)2 + 8=

Options :

Question Number : 111 Question Id : 8657991491 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

: 3 ; : 1
Rani can do = of a work in 18 days. In how many days Rani can complete the =
work?

©
—r

oeed 18 8%’

Dhiteth?

[Exie]

| W

Options :

12



Question Number : 112 Question Id : 8657991492 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of end points to a line segment 1z /are

2k,

i FE Ll oy R FOR - LW P N s
2.5 03" Polds ©od: flodoadel ol

4

Options :

L% >

2
2.

0
3. %

1
4.%

Question Number : 113 Question Id : 8657991493 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a prime number when n is a least whole

number?
T L N A (R o G, 0 B e g o
& i — = = et i DA ol .
n Sl u_:!':l‘-iD MO0, (SO0 o oD B (231 ) o gﬁlﬁﬁ
v (2 o

Options :

Sn+9
1. ¢

33~-3.5
2. %

2n + 3
3. %

4n? + 7

4.%



Question Number : 114 Question Id : 8657991494 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If product of prime numbers less than 10 1s M and sum of odd numbers less than
101s N, then M—N =
10 %08 8% 3 62, 20D Soype oo M 2h8din 10 & ol B%
sond, M- N =

Options :

81
. %
, % 175

185
3.¢

75



Question Number : 115 Question Id : 8657991495 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A student is able to reprezent decimals on a number line". Then the objective

achieved by the student is:

y o e T PP || L S _—
“a.u SJSB;E& HIP0TON DOTR; 33;2 rotieoln . wong & Qmﬂféﬁ PBOIS 9_;5{:-:.:
Options :
Kngwledge
)
.8 7
Understanding
BWRTPD
2. %
Application
_ Sedrno
Slkall
Jadesr0

4. -



Question Number : 116 Question Id : 8657991496 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The main purpose of identifyving individual differences in the activity-based
method 1s:

= i

e T R TN Iy W e S
& FcH8E Trred Hboddo &N ) aWgy 60F0:
2L S < n

gyord H08

Options :
Providing similar activities for all children

Heeotibs 2.2 D0 B yEerh 8dyodto

1. %
Providing activities according to the level and learning speed of the
children
DO ‘J;‘f:“ @8 drred @dibeore 5@ e 58 otitio
2.4
Prm"iding similar activities for backward and intelligent students
FHE=ls, BOFE e o8 AFPS EyErem EDjosto
3. %

Providing activities keeping in view of the average students

il oy g ndis e st
ESTRT:w0] &@;{%ﬁaJ Jc_._ét ol é o g*f‘: [STA)) :@J;G‘LJ-?&G



Question Number : 117 Question Id : 8657991497 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following resources for teaching mathematics. it is NOT an
nstitutional resource:

Bod 188 ST $5Hest, af Sorid $5% e:

Options :

Bank
ﬂ"'ﬂ;-:.g_';.
1. ®
Post office
&Esrer 80
2. %
Historical building
s o
3.¢ -

Market place /Market

Fat F i
2P /508 /505



Question Number : 118 Question Id : 8657991498 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In writing a period plan, the Herbartian step where the teacher elicits prior
knowledge of the topic to be taught from students through questions 1s:
SPERGE BSsS, SaPERAnD ShoSdehd roroards HomobBold TS =aed
Dorstoe Hod FHHe T el TETBHS AIes:

Options :

Preparation
1. B

Presentation

STl

Association

Domto
4]

Recapitulation

2Bt
4. % I



Question Number : 119 Question Id : 8657991499 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Conducting ‘Scholastic Achievement Test (SAT) 1s this type of evaluation:

ol F5S D55 (SAT) ddiren & 5538 sirerosso:
Options :

Formative evaluation

Summative evaluation
Jofisrers B sreroildo

2.

Diagnostic evaluation

e

-
rrh o oy g £
& el TP OES u:-.J_J_,'c'?_AE_"OEB/JO
2 )
!

Prognostic evaluation

SPI08E sarerosdo
4. %



Question Number : 120 Question Id : 8657991500 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main purpose of problems given under "Try This" in mathematics

textbooks 1s:

[=]

il i I | R - T T 5
ie8e8 ardredaisre &° Poh&oSol &l 380l shde suny; ﬁ@m;ﬂ-:
Options :
Solving the problem mechanically by students

EJD*—‘;E:EC:-*&'J 28k diro@Bore arhodtio

Giving problems as homework to students

A, - @t o
PO EIR ¥ -:a_-fw:' DJUJ_J Bmofl e ® v:m:u o

Developing logical thinking in students

=

hed” 88,5 ad 585 Dodroboito
i

3.¢¥ »

E‘_J

Students solve the problem on their own only

- o ok o # o ~—L =, )
. SJTPBen S8R - fPodore ar@ah rfodito
4.

23

Environmental Studies

Section Id : 86579950
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 86579980

Question Shuffling Allowed : Yes



Question Number : 121 Question Id : 8657991501 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Rawvi's doctor advized him to eat more 1ron-rich food. His mother should often

give him the following

wE &

3 B o wE Tl £ L g # . -] y =
505 @b JEpR™ 61 @8:P0o B3R TPES HoiF B, 08 89 ©8ls Sob EE

b

OO sl Wl . =
e SO Barsd

Options :

Boiled rice

Ice cream

0% &o

Buttered bread

3%, %% @6

Palak dal

C-.- @ Eﬁu"" C!J-ELJ

4.



Question Number : 122 Question Id : 8657991502 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In India. the percentage of millz used to prepare products like cheese, kova. ghee,
curd, and milk powder (approximately) is

PEEDEoE, e, Bam, Somg, DD 0B FretPE Hofd a8 R SarS 20O 08
EHEPACT e Fdo (Hsrthm)

Options :

30%
1. %

40%
2. %
3 % 80%



Question Number : 123 Question Id : 8657991503 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify. the plants considered as bee flora. from the following
8ob 8 Bad HyEereorr HoKBosat B0k
A) Acacia tree

©SPRH0TR (@0, ) Béw

B Musatard
C) Pine

Choose the correct option:
509 25l JoHEos:
Options :
A & B only
A & B srEs

1.

B EI C :}1113'
2. %

A & C only
3. %

AB&C

4.%



Question Number : 124 Question Id : 8657991504 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In case of unconsciousness, which of the following is the most appropriate first

aid step that can help the person?

80BPBS® K15 B 008 $0635,06°, $:88 HFBALHT wEod HwdE HEdH D8,
2B?
Options :

Make the person sit upright and give water

Eﬁ;gﬁ i levTan é)l‘" EIL 55 ;J-:’“ﬁ-:l

Laft the legs up and bend the head sideways to maintain an open alrway

seg 28 82, end H55,% %o, @&33535?-?0 207 Soter riso
2.

Splash cold water and shake the person

Hetd A $58 550 8600

-

Cover the person with a blanket and wait

é_:g-:? Jucu &Sﬂ é.; 3 DR,U..-' ﬁ@ﬁﬁ@



Question Number : 125 Question Id : 8657991505 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following animals reproduce by binary fission?

o momyed” B IS Te HE;8E8 Tab 067

[

Options :
Amoeba
sduer

1.¢

Earthworm

. ;
o rePallD

2. %

Butterfly



Question Number : 126 Question Id : 8657991506 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following, one of the major non-conventional energy resources is
808 BE°, HEPS FoRTrahEsd 305 SShod® .88
Options :

Bipdieszel

1.

2. %

Natural Gas

G g
rooed s d0RY

Petroleum

DDk



Question Number : 127 Question Id : 8657991507 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT statement about floods:
3308e 0Bo) NOSPR) eyl DBodol:
Options :
A flash flood of half a foot depth can make a person fall.

o et ' H08 2.8 553 Soll HGer Do,

1. %
A one-foot-deep flood can make vehicles like cars fall.
2.8 %D S8 $56 08 Ho8 arsraromd 8ol Hher Tnod.
2. %
A two-foot-deep flash flood can sweep away vehicles like cars.
Cotd etdite &°& $58 5°8 Hof) sPeProm S6HRE508.
3. %

A one-foot-deep flood can safely be crossed by foot or car.

o &5 s S B85 OLEES Sor 2% e HEore Tredi.
4. h



Question Number : 128 Question Id : 8657991508 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Based on the following statements, choose the correct answer:

Eobd e srrdorir D08 Herprard) ooidE ok

i

Statement I : Woolen clothes are used in cold places like the Himalayas.

o

T L T B L N o A R

c-.J:';ﬁ; I D e rediFe Qo D moTred Em.lc‘ t:]n.a..-ﬁsmv' Exaira
e - L p——

Statement II : Woolen clothes are used in hot places like deserts.
e IT : Arrthe Ho8 B8 PRTed® &l hibhoi eHErATS.
Options :
Only Statement I is correct.
oy I Sm@ah $358.
1% N
Only Statement II is correct.

aecgs 11 sim@adh D006,

2. ®
Both Statement I and Statement II are correct.
v T I 50605 &gy 11 Godlr $8:52.
3.

Neither Statement I nor Statement 11 1s correct.

&

4 % T I 358030 s 11 Coir 652



Question Number : 129 Question Id : 8657991509 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Birds evolved from reptiles during this era
K85 are Dok Hipen B0 Dol oo
Options :
Paleozoic Era

o

JPEarE onE dnio

Mesozoic Era
) s onE dwio
(Cenozoic Era

———
=, O e
e e ons Ao

Precambrian Era

-
]

& AP e Y
aBroEidon dofo

: MCQ Option Shuffling : Yes



Question Number : 130 Question Id : 8657991510 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The small intestine in adults 1s approximately:
2T D) @ih DIPHT Bod Sotnod:
Options :
3 meters long

3 Meas SR

1.
5 meterz long
= 5‘-.\_-'.\ L ,
5 ® o E._,.(:_'_:I o I:é‘
7 meters long
3@ 7 S0l EPES

10 meters long

10 S0es8 P



Question Number : 131 Question Id : 8657991511 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the levels of fluoride concentration (in ppm ) in drinking water exceeds this
level. it can cause dental problems in children

FAES* SFGE i (ppm &) & drond Mol Gol, 98 Deed® Sod $HdmdD

$DAK%0H.

Options :

% 0.5

ES
2. ¢

1.0
3. %

] S

4.%



Question Number : 132 Question Id : 8657991512 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Wind always blows from one place to another due to:

B seesore P8 Judtr 2.8 Hido Dol HEE Hieds kod:
A) Gravitational force

r05&=;50e awo
B) Rotation and revolution of the Earth

g=&b GlnEg; gisheso 84T HBEsheso
Choose the correct option:

wf =y oy o -, s ok
208 0520 wothS ol
L § :

Options :

A only
| % A SrEd

B only

B 5:0’"@3;::?:3
2. ®

Both A and B

A 58cx0 B Goiir
3. ¢

Neither A nor B

A ot Hbedh B sh



Question Number : 133 Question Id : 8657991513 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
For thousands of years. the waters of this river have been helping to irrigate the
fields of Egvpt
J0 HoHE TPenrr, & H6 meren &2y &89 hrined PO woboSteds
SFahHDST o0
Options :

River Congo

L% oR° H6

River Nile
Jen D

River Zambezie

sPomE 58
3, %

River Chad

4 % ?.TE byla)



Question Number : 134 Question Id : 8657991514 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One of the following is known as ‘The Greatest circle’

oo @ oh g e Y- . P S e S o T - D, S
Lod arBE° 2.8 tPAd A7) D)o’ @ DHendrd

Options :

1.¢

Tropic of Capricorn

555 B

Arctic circle

: MCQ Option Shuffling : Yes



Question Number : 135 Question Id : 8657991515 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

These mountain ranges form the eastern edges of the Deccan Plateau

o = = &
& D588 Fewen 050 285&=bE Ert @ohie &% on

1
e

Options :
The Satpura Ranges

o .
e E%q‘_.-"ﬁ- |2EGIED

1. %
The Mahadev, the Kaimur range and a portion of Maikal Range
‘c{jgﬁég. E 5 |‘t:-E'E' é)ad‘uﬂ ,:,_,_,.5"3 @mé B0t “-"_’Lg
2.
Westen Ghats
2880 Brosnen
3. % -

Nilagiri Mountain Ranges

4 % |.-ul'\\_ ﬂa Cl.-'}‘l' IIJUEB_F\_‘I-‘I



Question Number : 136 Question Id : 8657991516 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In this type of farming, the land 1s used for growing food and fodder crops and
also for rearing hivestock
1 55T S5 ED0Sd, HbPoDh il @Fbo, SHTH Hobed SoloSmels $Hdan
DHHo DoHAE SHAFATH
Options :

Mixed Farming
L SoEsh HrPdarado

Organic farming

2 L . -, -
) % 2OBAD HHarcho

I%'Iultiple C I‘Gpping
3 % 20 Sotren
Inter Cropping

L % 0680 mobien



Question Number : 137 Question Id : 8657991517 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the Chola Inscription, *Shalabhoga’ refers to
Shthe TS0 Heedo, ‘Todtiio’ 3 HErdkod
Options :

Land donated to Jaina Institutions

o Al £ Ty e,
Bn oo T &b

0

1. %

Land gifted to brahmins

e g0t srrEbols e
2. %
Land given for the maintenance of a school
srdare DU 5o sy g

3.¥

Land gifted to temples

= - - A T e
Garexdires; narrsEBoahd 2rd

: MCQ Option Shuffling : Yes



Question Number : 138 Question Id : 8657991518 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following. identify the Harappan Civilisation sites located in India
808 &, erdEtdo FES enHotd irdar) ritsE%H Dobhd BoTes rbBoBol
Options :

Kalibangan, Chanudharo and Lothal

Mohenjo Daro. Shortugai and Sutkagendor

T u:u i Tgb c%["ilﬁ 0Bam rIEP_ﬁDCjS
2. % )

Kalibangan, Ropar and Harappa

sgpoiin, 506 Hbd srdar)

Kalibangan, Ropar and Lothal

simanD, 5585 SHeahn Sfod
4.



Question Number : 139 Question Id : 8657991519 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

From among the following, identify the inscription that does NOT belong to
Kakatiyas
Eof arfd”, seBadmes Soll) Tvdari)) hBodok

Options :

Motupally Inseription

\.

o wh s
| % Sriond 0RO

=

Uttara Merur Inscription
&85 Sirb @hko

2. ¥
Palampet Inscription

= i i o
3 # 02183 om0

Bayyaram Inscription

o
adirbo a°ddo



Question Number : 140 Question Id : 8657991520 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Sunkara Satyanarayana wrote the Burrakatha ‘Telangana’, which focused on

$0088 HErTeohn Beorrn’ ©3 PSS ek, a8 833 &)k Dod

Options :
The heroie struggle of Osmania University Students for freedom

| % &R0 DE:Dorech EC?%E_J Fe-do@o o 254 H8P 0 DForeso

The heroism of Shaik Bandagi, a Mushm peasant

- 25 woih o3 sndho & Irhodd &0

The heroic struggle of the people of Telangana for separate state

wr=

= T AT - 1% 5 oy DSt FyoB e e S
2a:8 Trae §ho oo peo 508 0808 Sfordo

The heroic struggle of the people against Razakars of Hyderabad State

_—w‘ﬁ —':g,-'E\".;nz""" .
Jerseda) @aien Dol b D8 §PTPe0

e

PilaletaaRe

qf



Question Number : 141 Question Id : 8657991521 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Public Distribution System 18 used as an important activity of the
Government not only to ensure food security to the people and particularly the

poor ones during the inflationary situation but also to

o . Bl aff £ OB L rh oo -~ o : . £y
EeP okl i (BF e, HBARNS” PHaed, AP wed el HEE 58,0IA8
St ) :

i

arBd hotr @ihdEo GnE); £ g seTetidne SRt SHrNHNth&od
Options :
To regulate the prices of eszential goods
REesod Hde o Jcho@osrrls
1. -
To boost the economy of farmers
Oée @83 i Dodels
2, % i= e ¥9
To increase the prices of producer’s goods

&8 @0rHe e Gles Dol

To enhance the income of the common people

T I . 3 ’ o
T A e 5 —
oJ cJ"n_.,J [oIE3E péxj“[fﬁ“mﬂl aodERs



Question Number : 142 Question Id : 8657991522 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In August 1969, the state of Meghalaya was created out of these districts of
Asszam
@il 19696F, w08t & 2epe D DHTRS Herecd ordore Sydiotaltiod
Options :
Khasi, Jhantio and Gare Hills

v g, erotiair 80 8 ird,
l.

Baksa. Barpeta and Garo Hills

. O g0y $0BOM E° 8,

2. h
Khasi, Barpeta and Garo Hills

3 % a:?fb A 3 & sndain r“ﬁ" JT":""

Jantia, Barpeta and Garo Hills

oA, &Pty B mE° rd,
4. % ‘



Question Number : 143 Question Id : 8657991523 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the provision of this article of the Indian Constitution, the Governor of a
state can recommend to the president for the dismissal of State Government and
dissolution of the State Assembly

" P T Al E - : T = W g e -y o s " .
P58 Trerioliod’ & 6856 @sedo, &8 Toy N80 00y Eher ) Hbdin ory eRod

- By ol oy

i g P AR o LB O g R e g
Gfg O] D’-'?:;_wv_qé chﬂaDv-;;. 60NN
=

Art.360
HQ%EZS&O

Art. 356
@Qéﬁ,jﬁﬁ
3. ¢

Art. 368

e3B8565. 368
4.% %



Question Number : 144 Question Id : 8657991524 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The only iron and Steel Industry in India before 1947 was
1947 & Zmoth erBEBEos” &) D38 mxudn £HBan &%y HBEFD
Options :

The Indian Iron & Steel Company (IISCO)

2060608 0ds & ?i;::éf_. %02 (IISCO)

The Bokaro Steel Plant

o = oy
A°oeh° B arodh

e

Bhilai Steel Plant

@ . > :
Perdd b srods

L)
e

d
#®
g

The Tata Iron and Steel Company

or,

2 = . &
triP pdo BN B Sonid

4.

acre



Question Number : 145 Question Id : 8657991525 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify an example of a co—curricular activity from the following
808 PBS* Hir-rorod §y@rd8 aTrirdni 08okod
Options :
Conducting a mock assembly to practice leadership and public speaking

RODEE:0 HBAW aitrdol @homred v hodtmls iP5 f;,n,r::mJ SleTtAlenla

1.v
Preparing and presenting a science project on weather patterns
TEHGm Hrared P @PEED Ho Dahto HBoH BHEdoHEo
2. % S ’

20 0Es EPRNe) @R caﬁé ordho
3.8

4% s0rtes HB05a S518 N6 GHTHo ddto



Question Number : 146 Question Id : 8657991526 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A student of Class 5 took two cups of equal size, poured normal tap water in one
cup and salt water in the other with equal quantity, and placed both cups in the
refrigerator. As an EVS teacher. what i1s the “hypothesis™ that you give to
students for this experiment?
53 B518 SHHWR) o8 Dregf Beir HBIrmod” 6X) Gotd Yo ST, 0.8 S
P Heron G, HEE 55 ed) B SErd Ho5irmos” 8, Bod SGypd
BRR00ES° Gorth. EVS eadrgranére, & pardo 8ho Hinw dohek 55
“HBEeyS" D67
Options :

Record the time taken for each cup to freeze completely and write a report.

£

o8 833 orlre DD DoSTDE "‘*r‘ago‘/a 580eird) Sdrth 29, H36E Teahod.

Observe the cups every 30 minutes to see which one freezes first.

I8 WOtHT APV 08” TrEerds B8 30 Adsred SGod hloSod.

2. %
Measure the temperature of both cups before putting them in the
refrigerator.
. BRE0666° &oB Swoth Botd Sy ESPHED Sood.
3. ; ;

The salt water will freezes slower than the tap water because salt lowers

the freezing point of water.

R " o
€53, 58 Ldasss ‘%;aﬂ,-“\,; f}fﬁémﬁ oo f:ﬁé &3 8, Hgron S8 ol Jho B
' Jeld

e -
abelgiadenob.

4.9



Question Number : 147 Question Id : 8657991527 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In teaching Environmental Studies (EVS). the most important role of the teacher
1s to:

S larsioils) &-a;;;ﬁo (EVS) Faoddos®, BP0 ©f SNy e

Options :

Deliver information through lectures

SRR PI0P DaPiPTR @obodito

Facilitate students’ exploration and active learning

] e 1 iy Ay E o Y o ) r £
Efﬁ(‘f’g@ g s08ain Sdirde wgiziard, hedidbo ddbiio

2.¥

Test students through frequent quizzes

S50 Scfe trioe AtEthe H850dEo

%)

Focus mainly on textbook content



Question Number : 148 Question Id : 8657991528 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Match the following List-A with List-B
£ |Sob srdlar-Ad orfa -BE e85 006

List-A List-B
epdlae- A doe-B
(Lessons) (Related themes)
(o oddomen) (Somchd a@ﬁaéa‘mm}
A) Water and its need 1)  Weather
Dt — wd5oren TPERHDE0
B)  Child Rights 11)  Family-Relations
oo JPhyen E360020 —mODOTPED
C)  Energy iii) Food, health and hygiene
58 35080, HBLHEE

D)  Family system and changes 1v) Values and Rights
Yrénon é;.‘:ﬁ?é — tyen Rensen — sPEyen
Choose the correct answer
R0 SRRl DBotol
Options :

A—m, B—1, C-1v, D-n

1. #

- A-mi; B-iv, C-1, D-u
Aciv, Bemy, Cea, D-n

3. %

A-1v, B-1. C-11. D-1n1



Question Number : 149 Question Id : 8657991529 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

After completing the lesson ‘plants and amimals’ — A class-V student is
growing plants, school garden and showing love and sympathy towards
animals and birds. The academic standard reflected in this activity.

2.5 sy SONS S?JE?;’_D‘_ ‘Eoé}@m—ﬁnéim* ) arSEndy S0 aord 89
HBTres® Bndien DoDETD, 288 B0 Dohiad, modden, HHe ke

>8R, 8 ytost 88080 e

E)
g&
4
?:f‘
=3
ﬁh
¥

Options :
Reflection on contemporary issues

2HE05RON @ode B P800

Information skills and project works

L it = - 17 S S
SRS cooBERRIED, o) mé.. oledUeD
(- g - 4]

Appreciation and sensitivity
|-:n..'§'-“3'ru edledy Egﬁ}‘

3.¢
Experiments and field observation

—_ = o :
4 % [EOIeTeeD, 51 HBdeden



Question Number : 150 Question Id : 8657991530 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The following tools are mainly used in the Formative Assessment of EVS
(Environmental Studies)
HodTre eddhdsm (EVS) &5 dooprsd 80988 Sngomr & Bod Fdared
SRETATRS
A) Slp tests
o HB5en
B) Written works

-
(0P S3ed0ED

C} Children’s participation and reflections

D) Project works

ﬁcﬁ% Hiden
Choosze the correct answer
5B AR HBoWED

Options :

A B.C.D
1.

B, CoD Gl

B. C D Eu:l.?"!‘f_{c-ﬁ.q:'
2. %

A C.Donly
A, C, D &r@sd

A.B.Conly
A, B, C &mgsadh



